ADO#gEt R ERTIE)

TR25%E128 1BIRHE
BITH% Bt =i H&Et HEE
JIEH# X /NG 1,060 1,132 2,192 937
JNig—T B 329 331 660 285
NE¥=—TH 280 261 541 239
JIE=TBE 228 243 471 180
Nigm T/ 193 205 398 159
EHERRE 30 92 122 74
H/HHX /NE 1914 2,115 4,029 1,893
F /1 46 203 249 249
H/##—TH 375 396 771 322
H/-TH 462 470 932 441
F/##=TH 593 617 1,210 496
H/#HMTH 438 429 867 385
P E 225 218 443 191
H 225 218 443 191
HEAEHEX /it 4,629 4,662 9,291 3,932
#EE—TH 1,207 1,075 2,282 1,045
#BES-TH 1,552 1,568 3,120 1,268
#HEE=TH 1,534 1,625 3,159 1,270
#HEEEmTH 336 394 730 349
FKHETHEX /NET 2,856 2,385 5,241 2,629
KET—TH 1,169 1,026 2,195 1,076
(EI—TH 1,687 1,359 3,046 1,553
HBrE#X /et 3,402 3,187 6,589 2,927
#yE—TH 709 688 1,397 637
¥ByE=TH 872 867 1,739 733
BrE=TH 394 390 784 340
HoyEMTH 650 533 1,183 537
#ZyERTH 777 709 1,486 680
EJIHX /NET 591 514 1,105 491
EN—-TH 114 120 234 102
EJN=-TH 477 394 871 389




ADO#gEt R ERTIE)

TR25%E128 1BIRHE

BITHA Bt 4 B&Et HEE
ELTRFMEX EH 2,219 2,181 4,400 2,118
EXRFE—TH 1,112 1,131 2,243 1,036
EXRF=-TH 1,073 1,010 2,083 1,058
EXRE=TH 34 40 74 24
PR /NET 1,876 1,898 3,774 1,666
FE—TH 929 930 1,859 855
PE-TH 369 403 772 322
FE=TH 578 565 1,143 489
PhX /NG 1,891 1,855 3,746 1,528
Ph—TH 417 423 840 355
FHR=-TH 661 618 1,279 533
PHh=TH 509 509 1,018 419
P TH 304 305 609 221
PINEMR ET 2,086 2,070 4,156 1,615
FmxE—TH 658 625 1,283 501
FMEZTH 546 577 1,123 454
FME=TH 474 479 953 353
FmEMTH 408 389 797 307
FFEHX /NET 1,489 1,388 2,877 1,105
FE—THE 701 684 1,385 535
FE_TH 396 338 734 303
FE=TH 392 366 758 267
WERTHX /MET 1,544 1,503 3,047 1,199
NERT—TH 72 61 133 47
WERT=TH 1,082 1,060 2,142 843
WERI=TH 390 382 772 309
IMEEBH#IX /NET 3,083 2,915 5,998 2,823
IMEE—TBE 438 422 860 427
IMEEZTH 730 570 1,300 709
IMEE=TEH 681 672 1,353 582
IMEETTH 474 487 961 423
IMEERTH 760 764 1,524 682

&5t 28,865 28,023 56,888 25,054




